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The figures in the margin indicate full marks
for the questions

1. Answer the following questions : 1x10=10
S 2PICARd e o :

(a) Write oné use of Edgeworth box
diagram.
qwend T3 (Iv) e @bt T e

(b) What is contract curve?

pfe caa a2
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(2)

(c) Define pure public good.
o Aered T TR e |

(d) What is degree of monopoly power?
qeoiou Femad e il & 2

(e) In which market, there is selling cost?

@I IS REF 7 AqCF ?

() What is meant by strategy of a game?
49 (3T (et e £ o 2

(g) Define signalling in a fnarket.
IH P IR o |

(h) What is duopoly market?
TRFR 351 3 2 |

() What is meant by asymmetric
information?

qafe ooy fea & qam o

() What is non-zero-sum game?.
-]~ (U1l O R 9
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(3)

2. Answer the following questions : 2x5=10
Y A b forr
(@) Define two types of externality.
TR RR RO SR for |
(b) - Distinguish between perceived demand
and proportionate demand. !
ferm 1
(c) Define qu_.;rnot’s oligopoly fnbdel.
T3 St = SR St fore 1
(d) What’l:is marke'ty efficiency?
I&d el {32
(e) Distinguish between minimax and
maximin strategies in game theory.
AL IR S0 I R S —
M4 forey |
A23 /8852
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8. Answer any four of the following questions :

Sx4=20

oo s R @ s e e :

(@) Explain the concept of production
possibility frontier.
Beofw SRS @R 4RO T 341 |

(b) What are the characteristics of public
goods? Explain.
e G99 CIREPER 6 6 2 amrm = v

(c) Explain Lerner’s measure of degree of
monopoly power.
CISCISEIRCE i M 2 B o 1 B P )
R

(d) Explain how the saddle point is
obtained in a two-person zero-sum
game.
R-IE F-am @ e R @
ToeTd W, M |

(e)

A23/882

Explain the concept of dumping in
a market.

WA GI™TA YraeIreh| ey oy |
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(§5)

Is price discrimination under monopoly
desirable? Support your answer.

GFONT TS WA RSN I 2 (@E
TERR AT IS o |

4. Answer the following questions : 10x4=40
o P T fora

(@)

(b)

A23/852

Explain the conditions for Pareto
optimality.

CICTB°T FCASH FAT FETR I 41
p or/agm

Explain why there is no supply curve
under monopoly. Briefly explain any
two methods of regulating monopoly
power. ' 4+6=10
GFCEHT TEAS @R @ R AU, I

41 | @i e Pz 3R R e o
oS BLLF M 1

Explain diagrammatically the Bertrand’s
model of duopoly equilibrium.

TAGOR TN SR WiED! foan RS
A 41 |
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(6)

Or/ 7991

Explain how a firm under monopolistic
competition attains equilibrium both in
the short and long run.

IR AN ITAS 9B AR @A
TR qF WA STl e 3,
SIS 4 |

Write notes on adverse selection and
moral hazards which may arise due to
information asymmetry with examples.
S+5=10
SHIRACIA O WA o FrTT Besy Rl

ﬂwmwmﬁﬂﬁ?eﬂwc@m
foran

Or / g

Explain the market equilibrium process
in case of a multi-plant monopoly.

AT oy wEs  qwR SR
fRefrae sifamn e 7 |

Diagrammatjcally explain how
externalities in Production and
consumption lead to market failure.

QQWWH e orN mf‘ (P O
ﬂm‘lﬂm.m‘lﬂww“.
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Or / 71

Explain how optimum  resource
allocation can be obtained with the

help of production possibility frontier
and social indifference curve.

T SBIR@ AN SF TS Fraeors @E

wﬁmmwﬁmq@mm%mw,
SICEAGT 3#47 |
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